Ch.6 Homework Solution.

8.Show that if X and Y are independent exponential random variable with λ=1, then X/Y follows an F distribution. Also, identify the degrees of freedom.

Ans：X and Y indep     X , Y～exp(1)
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9.Find the mean and variance of S
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, where S
[image: image5.wmf]2

is as in Section 6.3.

Ans：Let 
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10.Show how to use the chi-square distribution to calculate P(
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Ans：由定理
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11.Let X
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,…,X
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 be a sample from an N(μ
[image: image16.wmf]x

, σ
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) distribution and Y
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 be independent sample from an N(μ
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) distribution. Show how to use the F distribution to find P[(S
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